
The derivative is the limit

lim
h→0

f(x + h)− f(x)
h

,

if this limit exists as a finite number.

The derivative has important appli-
cations in physics as a rate of change
and as a linear approximation.

The derivative can be evaluated using
appropriate formulas
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Rank is a maximal number of lin-
early independent rows in a matrix.

Rank can be used to prove or disprove
linear independence of vectors and it
also appears in the Frobenius Theo-
rem.

To find the rank of a matrix, you have
to convert this matrix into row eche-
lon form.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 2.07.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.94.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.82.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.7.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.6.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.5.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.41.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.32.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.25.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.17.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.11.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 1.04.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.98.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.93.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.88.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.83.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.79.

Tečna je (přibližně) y = 0.61x + 0.91.

19



x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.75.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + hy0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.73.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.71.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.69.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.67.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.65.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.64.

Tečna je (přibližně) y = 0.61x + 0.91.
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x0

x0 + h y0

Směrnice sečny je k =
f (x0 + h)− f (x0)

h
= 0.62.

Tečna je (přibližně) y = 0.61x + 0.91.
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